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JIE 432 IES E4 OUT | IN | GR | HDGP NET HE JIE 432 K 2 OUT | IN | GR | HDCP NET w&
B R Al 50 50 | 15.6 | 34.4 |AH 51 ||RO X 53 | 53 |14.4 | 38.6
HE EE N 49 | 49 | 14.4 |34.6 A% 52 |#IL X 52 | 52 [13.2 | 38.8
3 Bl ® 45 45 | 9.6 [35.4 |AH 53 |EM #i= 51 | 51 [12.0 |39.0
4 |=EF KEB 45 | 45 | 9.6 [35.4 |AH 54 |8 RN 55 | 55 | 15.6 | 39. 4
5 fsE 3% 44 44 | 8.4 356 |AH 55 |BpAt  EfLA 55 55 | 15.6 | 39. 4
6 EE = 44 44 | 8.4 356 |AH 56 |fER EIE 48 | 48 | 8.4 [39.6
ARV 7 50 | 50 |14.4 |35.6 |AH 57 |BE B 48 | 48 | 8.4 |39.6
8 |/INB FH2 43 43| 7.2 |35.8 |AH 58 |{£iE EX 53 | 53 [13.2 |39.8
9 B8 @E 49 49 [13.2 |35.8 |AH PN 46 46 | 6.0 | 40.0
10 [t 18R 42 42| 60360 |AH 60 |58 iR 58 58 |18.0 | 40.0 |Fex
TRELRETE 41 41 | 4.8 ]36.2 61 [HE 23k 56 | 56 | 15.6 | 40.4
12 WA ER 47 | 47 [10.8 | 36.2 62 |'mE = 49 | 49 | 8.4 |40.6
13 |NE it 53 53 | 16.8 | 36.2 63 |¥8 =ik 55 | 55 |14.4 | 40.6
14 )l BEXx 40 40 | 3.6 |36.4 64 T I 48 48 | 7.2 |40.8
15 IEE HIE 46 | 46 | 9.6 |36.4 65 R st 52 | 52 [10.8 |41.2
16 | A% HE 46 | 46 | 9.6 | 36.4 66 |5 —BI 52 | 52 [10.8 |41.2
17 8% 3 52 52 | 15.6 | 36. 4 67 |/ BmE 50 | 50 | 8.4 |41.6
18 A% EE 39 | 39 | 2.4 |36.6 68 M &+ 42 | 42| 0.0 |42.0
19 e @ 44 | 44 | 7.2 |36.8 69 Bk HE= 48 | 48 | 6.0 |42.0
20 BB E 44 44 | 7.2 |36.8 |RH 70 (LT A 54 | 54 [12.0 |42.0 |
21 |EE £A 44 44| 7.2 ]36.8 ARESEE PN 51 | 51 | 8.4 |42.6
2 kg = 44 44 | 7.2 |36.8 72 |&fg = 62 62 | 18.0 | 44.0
23 INA R 50 50 | 13.2 | 36.8 13 | KE B 55 55 |10.8 |44.2 \BBH
24 Kt —B& 43 43 | 6.0 |37.0 74 B i 64 64 | 18.0 | 46.0
25 % MR 55 | 55 | 18.0 | 37.0

26 |tk Ak B 42 42 | 4.8 [37.2 BT A NR
27 |kl 1ER 42 42 | 4.837.2

28 |l BE 48 48 110.8 | 37.2

29 HME X 48 48 110.8 |37.2 |4BAH

30 hE & 47 | 47 | 9.6 |37.4 |memE

31 IR BE 46 | 46 | 8.4 |37.6

32 |BE R 45 | 45 | 7.2 |37.8

33 |RIE R 51 51 |13.2 | 37.8

3 |FH KE 51 51 |13.2 | 37.8

35 |sEfE M= 51 51 |13.2 |37.8

36 B Rk 44 | 44 | 6.0 |38.0

37 |HEE & 50 50 | 12.0 | 38.0

38 |B E— 50 50 |12.0 |38.0 |BEE

39 | XE BR 43 43 | 4.8 |38.2

40 |hE EHE 49 49 110.8 |38.2 |RH

4 |BE —& 55 55 | 16.8 | 38.2

2 |50 mE 48 48 | 9.6 |38.4

34 LEF 48 | 48 | 9.6 |38.4

44 |EE 48 | 48 | 9.6 |38.4

45 kK HHEE 54 | 54 | 15.6 | 38.4

46 |/HT  Eah A1 41 | 2.4 |38.6

47 |1k FE a1 41 | 2.4 |38.6

48 |F) B 47 | 47 | 8.4 |38.6

49 B 8BX 53 53 | 14.4 | 38.6

50 I == 53 53 |14.4 | 38.6 |
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